Relay-type Terminal Block

A
* EwF . pitch 61. 5mm
7.5 B iis 1]
T%e Num?er FI 009
=
15 615 E M AG1000V 450A

Rating

R 500V 1000MQ LA E
lusulation Resistance] DC500V 1000MQ and over

@ ' ' TR E | 3000V 1535 E
~| Za 72 p= Withstands Voltage | AC3000V iminute and over
=] :{a} = RLE )

N Screw Diameter

/4
\

=1 ik
Compatible Wire

HELEITEU5F | Rag-12, R150-12, R325-12

Recummended Crimp Termina

—f% A2~ General Tolerance +0.5
|Rf§/$ca|e Vs BB /Unitmm

38. Omfi~325. Omft

54

101

14

&)
7\
N\ J
_1:L_

.'I’ [EI51

69

cll
ol
|

e
C BrERC( / 2)
O,
< SO DA ] f . e
« Ordering Form:Type No. No.of Poles(P)
AERE A A BV 2 18, 5N .
« Connection screw:Tightening torque is 18.5N-m.
W {t# . Specifications.
&R%/Part No, &RE/Part No. B Material ##&. Standard <tik/Size AL/ Treatment {#% /Remark
1 %G Internediate base PBT UL H {4 Black *@%{/FOIBS 1P 2P 3P 4p 5p 6P
2 Wi 7 A End base A PBT UL B 4 Black A 92 |153.5| 215 [276.5| 338 |399.5
i T B Fnd base il o B B B 77 [138.5| 200 [261.5| 323 [384.5
4 HESE Terminal 4 Copper C1100P IR 5.0 =yl NAyE  Nickel-Plated
5 HliR A Screw # Steel SWeH M12X 1. 75X 300 ZEPAN T Chne Trement | PR SWEEARRL b Type®
6 AN N Hexagon nut ] Brass SWCH M12X1.75 Sy NVAYE  Nickel-Plated
7 HIFEARL R Connecting bolt &% Steel swen M6X 1.0 ZE7aA=b ik Chronde Tredment F
8 WiAEF > b Connecting nut iR Steel SWCH M6X 1.0 Sy mA=b Trvden Cronae Tretnent
9 FLEHK  Marking strip| 77 A /38— Fiber UL WE 1.0 B White
10 HyR— Cover KU H—K*—h  Polycarbonate UL B 1.0 % B Transparence
11 H1 73— 1k B Acover retaing sere # R Brass C2700W M3 X 0. 5X80 =y Ay%  NickelPlated  |PLSIZAZALVE Type®
12 ANFF v b Hexagon nut # Steel SWCH M3X0.5 ZfymA=b Tkt Cronae Tresnent




